
6"

4'-6" 4'-6"

6"
1'

-0
" 8"

1'
-0

"

4'
-0

"
k

eu

aa

c4-d4-ek

n-d4-ek

d2-ek

rp5

g

o-s-cm--d3-ek

l

Position of 3rd guy when req'd

d4-ek

rp8

c2,d3,d2

ITEM PART # MATERIAL QTY
c2 9372 Bolt, Machine 5/8" X Req'd Length 1
c4 9373 Bolt, Machine 3/4" X Req'd Length 1
d2 9091 Washer, Square 2" X "2 X 11/16" 2
d3 9092 Washer, Curved 3" X 3" X 11/16" 2
d4 9093 Washer, Curved 3" X 3" X 13/16" 2
g 4118 Crossarm, Fiberglass 10' Deadend 1
k 4280 Insulator, Expoxilator 18.75" 3
l 2120 Clamp, Deadend 3
n 9364 Bolt, Double Arming 3/4" X Req'd Length 1

ITEM PART # MATERIAL QTY
o 9368 Bolt, Oval Eye 5/8" X Req'd Length 1
s 2160 Clevis, Swinging 1

aa 9878 Eyenut 3/4" 1
cm 9471 Insulator, Spool 3" 1
eu 4281 Link, Fiberglass Extension 1
ek 9096 Locknut 5/8" 1
ek 9097 Locknut 3/4" 3
rp5 4780 Perch Guard 30" Zena 4
rp8 4743 Perch Guard Pole Top Cone 1

RUS

VC5.31DRG

24.9/14.4kV, 3-Phase

Single Deadend on Crossarm Assembly

Small Conductor

DocuSign Envelope ID: 044655D8-188C-40DB-8167-42744DE2F059

AutoCAD SHX Text
DESIGN PARAMETERS: Allowable Longitudinal Load: Lesser of 5,000 lbs./conductor or manufacturer's specification

AutoCAD SHX Text
9/16/2020

AutoCAD SHX Text
REV. B


	Sheets and Views
	VC5.31DRG


		2020-10-12T07:45:16-0700
	Digitally verifiable PDF exported from www.docusign.com




